
4 2

A ~I'I-IIW  I 27 - 22 = 5

A til4lW  I I 22 - 22 = 0

A YI-WIW  III 24 - 22 = 2

A ~"WIU  IV 25 - 22 = 3



A 5 0 2 3

B 6 12 4 0

C 02 4 0 9

D 5 1 3 0



4 4



(Total - opportunity cost matrix)

A 3 0 2 3

B 4 1 2 4 0

C 0 4 0 9

D 3 1 3 0
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Fll514  2 - 8 : mici4mswmdau  (Test for optimality)

I II III IV

A 3 0 0 2 I

B 4 12 4 0

C n A 0

D 3 3 0



4 8



4 9



I II III N

A I " "

B 2 12 2 (

C ,'"

D 01 1 1 1



5 1



I II III IV

A

B

C

D



5 3



5 4



5 5

A  fi141u  II 0 27

B Tfl-alU  IV 0 1 7

c TflWU I 0 17

D rh?u  III 0 19

cau --- 0 75



5 6

btwwnisrSms3ssdBid$sil  (optimal assignments) :



5 7

LLWW d I :

rLwwd II :

A

B

C

D

n-WIU  II 22

rfww Iv 17

?iWlW  I 17

til-md  III 1 9

r-dun'l1Jr;lU  - - - 75 wn

ril4lU  II 22

T1141u  IV 17

?fWlU  III



58

twud III :

B y11-11w  IV 17

c YrWlU I 17

c781Qi11&1u  - - - 75 v7n

d$d  hd6I~unlSHlFilLQaU ~mu~~nlWW~4nlL~uu  (Hungarian method)
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n n
= i& j& 'ij xij



SO

SuQject  to

n
c x.. = 1

ial ='

n
cxij  = 1

j=l

and xi j ia  0, (x..  = x2 )
1J i j

Y

n7 x. -lj
xi j duo4trwa  L9w-lJRlaJL  dQul&4r&J

”
URtrURl x.. = X

13 i j v%aadwo4  :

n n
0' = E I c!.  x.. Gay7u

i=l j=l l7 '3

PmJd  :

Cl =c
i j ij - "i - vj( tda  i = 1,2,...,  n; j = 1,2 ,...,  n)

d4 cl.
13

tbdsl4fh 6bpdlno;4he;97nti;upwrBiu  v%-mane;?wimaw

u i mi81mawowd  "i"  undnmn~adndau

v. maunafhd  ,,jw
3
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53’
n n

cl. x.ic ill jH1 '3 l7

n n
= c c

i=l j=l
(c.. - ui - vj ) x..

13 11

n n n n n n
=

i& jLl 'ij
Xij - .c u.1~1 1 j21xij -.c v.3~1 1 iLlxij

n n
= a - zu

i-
c v.

i-l j=l '

n n
c cc!.x..  =

i=l j=l '1 '7

2 0 ( Ida  i = 1,2,...,  n;

(optimal) W&l L da

0

(A Maximization Problem)



6 2


